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Using Periodic B-spline Curves

• Input: knot sequence                       and control 

points      

• Output: a periodic B-spline curve

• For each t 

▪ while then

▪ while then

• Evaluate
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Using Periodic B-spline Curves

Example

• Order = 4

• Knot vector:                            , n=6

• Floating knot vector: 

• Control points: 

• Therefore,

( )10,9,7,5,4,3,1,0=

( )14,13,11,10,9,7,5,4,3,1,0,1,3,5 −−−=t

( ) 7mod440 , +== ii PVPV

( )6543210654 ,,,,,,,,, PPPPPPPPPPV =
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Using Periodic B-spline Curves

Example

• Order = 4

• Knot vector:

• Floating knot vector: 

• Control points: 

• Therefore,

( )17,15,14,13,11,10,9,7,5,4,3,1,0,1−=t

( ) 7mod660 , +== ii PVPV

( )1065432106 ,,,,,,,,, PPPPPPPPPPV =

( )10,9,7,5,4,3,1,0=
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Using Periodic B-spline Curves

• We construct a larger sequence of knots

• And of control points

• Define
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